Boraam

Boraam Industries

ORLEANS TABLE
ASSEMBLY INSTRUCTIONS




A PLEASE READ ME FIRST A

- Have questions about assembling your item?

T - Item or parts damaged?

- Missing a part?

@ - We're here to help!

J (847)949-6300 (M-F, 9am-5pm CST)

A www.boraamindustries.com

P“@{ customerservice@boraamindustries.com



C

M6x25: 4PCS

M6x30: 10PCS M6x40: 4PCS M6x110: 1PCS Allen Wrench: 1PC




DO NOT TIGHTEN BOLT COMPLETELY.

DO NOT TIGHTEN BOLT COMPLETELY.




4PCS | 4 PCS | 4 PCS

DO NOT TIGHTEN BOLT COMPLETELY.

)
a\®
O\ Ao

A

DO NOT TIGHTEN BOLT COMPLETELY.




|=®

o |

10PCS| 10 PCS

DO NOT TIGHTEN BOLT COMPLETELY.

DO NOT TIGHTEN BOLT COMPLETELY.




	2.PDF
	3D
	Drawing View14

	CANH BAO
	HARDWARE
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View49
	Drawing View50
	Drawing View51

	CHI TIET
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Detail View  (1 : 2)
	Drawing View31
	Drawing View32
	Detail View 0 (1 : 2)
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View52
	Detail View BC (1 : 7)

	STEP 1
	Drawing View37
	Detail View  (1 : 1)
	Drawing View39
	Drawing View40
	Drawing View41

	STEP 2
	Drawing View42
	Detail View  (1 : 1)
	Drawing View44
	Drawing View46
	Drawing View54



